Adet (ppb) 1D pull distribution

X2 / naf 10.48/5 M 0.2089 + 0.5328
— lean . +0.
1000 |— pO 432.7 + 63.57 25
L i StdDev  1.305 40.3768
: r Underflow 0
800 [— I
| 2+ — Overflow 0
L ® L
| 0.3548/ 2
600 — I 3.732 + 31.408
- 15 Mean 19.88 + 70.38
| ‘ - /
200 |— | / Sigma 12.85 + 9.36
L 1+ _ S
200 — r
111 | 111 | 11l | 11 | 11 | 111 | 111 | 111
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lagr_asym_us_avg (ppb) 1D pull distribution

X2 / naf 10.48/5 M 0.2089 + 0.5328
— lean . +0.
1000 |— pO 432.7 + 63.57 25
L i StdDev  1.305 40.3768
: r Underflow 0
800 [— I
| 2+ — Overflow 0
L ® L
| 0.3548/ 2
600 — I 3.732 + 31.408
- 15 Mean 19.88 + 70.38
| ‘ - /
200 |— | / Sigma 12.85 + 9.36
L 1+ _ S
200 — r
111 | 111 | 11l | 11 | 11 | 111 | 111 | 111
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lagr_asym_usr (ppb) 1D pull distribution

1200 = X2 I ndf 8.594 /5
- Mean 0.1747 + 0.4834
- pO 372.2 + 88.74 C
I~ 2 T ] StdDev  1.184 + 0.3418
1000 |— N
: 18 [ Underflow 0
800 __ I Overflow 0
- 1.6
- - X2/ ndf 0.4055 / 2
600 — C
= 1.4 Constant 1.193 £ 0.641
400 — 1 L Mean 0.636 + 5.728
- ! 12F
- * L Sigma 3.592 + 6.054
200 — +
- 1~
o osf
~200— 0.6F
- ] ] ] ] ] ] C
0.4l
0.2
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lagr_asym_usl (ppb 1D pull distribution

1800 F= X2 / ndf 11.65/5
- Mean  0.1368 + 05661
- p0 475.4 + 87.73 10
1600 — 1 StdDev  1.387 + 0.4003
1400 :_ B Underflow 0
1200 — I Overflow 0
- sl
1000 — L X2/ ndf 0.927410
800 :_ I Constant ~ 750.1+ 4483.0
600 f_ 6 Mean -50.06 + 24.70
200 f_ l I Sigma 14.36 £ 9.27
200 |— -
: 4 —
o— L
C | | | | |
o
111 | 111 | 111 | L 1 H Ll | 111 | 111 | 111
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800

600

400

200

lagr_asym_us_dd (ppb)

X2 / ndf
p0

10.32/5
52.13 + 60.76

—o—

H——

18
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14

1.2

0.8
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1D pull distribution

Mean

Std Dev

Underflow

Overflow

X2 I ndf

Constant

—0.04416 + 0.5352

1.311+ 0.3784

0

0

0.3927/2

1.266 + 0.840

Mean  -1.479e-16 + 5.960e-03

sigma

2.745+ 7.807
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